(ReLSH1-15%) HRR R ER SRS
(O)ERHEERER) | [( ) BRESERID)
£ E 2 Hhig E RN iG R R A TR ERRES
R’ A (B4 : )
® B ® & ]
KRS GEER) A 450,000
AEH € CESHE) B 3,190,000(
0 GhgHEASONEEE) C 1,185,587 @& - EN SO FH . TLFE
5 &t D 4,825,587 -
X H (Bfi: M)
E 5
5 BREH ] e RoAE MERG mye | O
=H+I =E—F =E—H
EEER 4H~3R 451,800f 451800 of 450000 1,800}
‘BERWDS /I E 451,800fF 451,800{ G OJH 450000 I 1,800}
EWR FLEH VN 45 sty ol o e N
=M+N =J—K =J—M
_ RENEEBE 48 ~3H 145,600]~ 145,600 0] 120000/ 25,600}
r . [ERLAEREE 2A~3A| " 710,000]° 710,000|" o] 532,500~ 177,500}
B30 0 0 0 0 of
0 0 0 0 o]
FETYHAY 4R ~3R 96,550 96,550 ol-  80,000] 16,550
ST [BADETE 1TAUE]  29875F 15878 14,00 15000] 14,875
Fog (EEMEATK 4A 24,230)- 21,230 3,000] 20,000 4,230
' 0 0 0 0| of
BOEREEE 48~3A].- 180,000f 168,000} = 12,0001 160,000 20,006}
EBAE) |ShHLEE 4A~38] 343532] 333532} 10,000] 105000 238532]
B EREETYEZ 9A 589,000]  575000{  14,000] 515000f  74,000]
IR EE (P T5y) [nAIA2AE 177,000 162,0000  15000] 59000/ 118,000f
TR ERFREE 6A2A}  19300] 19300f ~  of - 19.300F of
GEBNHE) - o] 0 of. o0 ol
f@pE 0 0 0 0. ol
0 0 0 0 ol
EE D) 3A | 83,000 83,000]- 0]  60,000[- 23000f
REBEMFEECEEREREE) [4A~3A 155,560] 155,560 0] 105800{  49,760]
E® | RE S EE R 1 RERE) [4R~3A|  70810]  70810] o s1708] " 19.110]
REBESEEEEE2RERR [48~3A] 203540] 203540 0] 160,000{  43540]
REREMHEEFEsHoU-cnS) [4A~3A]  105640]  105,640] 0] 60,000 45640}
EEFOUY 78 804,250 784,250 20,000f 650,000 154,250|.
SO [orii—Ens 108 267,000 237,606 30,000f 200,000  67.900}
zk—y [BEXEEES 11838 368,000] 368,000 of 276,700 91,300
o] 0 o] 0 -~ 0
EBREHE /i (WRIFELE=MK 750 %) J 4373,787|K 4255787 118,000fM 3,190.000|N 1183787] .
&N 4,825587] 4707587] 118,000f  3s640000] 1185587
e X e ATB _ (BEEESI HIM] _ =5 (RAE)
3,640,000( 3,640,000} 0




